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28, x2 — 30x — 64=0
(x—32)0x+2)=0
x—32=0 orx+2=0

(2x —9)(2x —9)=0

x =32 x=-2 2t-9=00r2c—9=0
2=9 2=9
29, 7x2+3:0 I*E x*ﬂ
2 _ T2 - s
Tx 34, —4(x + 37 =28
2 _ x+32=-7
X x+3==V=T
x+3==%iVT
x == x=-3=iVT
. 35, - 1x=7
x==*i 32% — 10x
x=*i
30.x2 —4x+ 7
X2 — 4x
x?— 4+ 4
(x — 27
x—2
x—2 -
x=2+iV3 RS ELVE o i)
—b = VBT~ dac =
3Lx=—""5,
_ —(6) = V(6 — 42)(—3)
x= 2(2)
6+ VB0 37, 1022+ 3x =0
x=""4 *(10x +3) =0

x=00r10x+3=0

L 267 — 12x +7=5

39, 21=(x-2”+5
18=ix —27? xr=
=Vie=x-2
t4=x-12
2+4=x
2+d=xor2 -4=x
6=x —2=x

201)

49. x? + 18x + 81 =25

(x+9)? =25
x+9 V25
x+9 5
x=-9*5
x=-0+50rx=-9-5
x=—4 x=-14

The solution set is {—14, —4}.
50.x% —8x+ 16=7

(x—4@=7 _
x—4=2VT
x=4+ V7
x=4+VTorx=4-VT
x =68 x=14

The exact solutions are 4 — V7 and 4 + V7.
The approximate solutions are 1.4 and 6.6.
514 —4x+1=8

(2 —12=8 _
2r - 1=+V8
—1=*2V2
2c=1+2V2
2
x=""3
i+2vE 1-2vE
=5 orx="3
x=1.9 x=—09
The exact solutions are * 5"~ and 4“;”-

The approximate solutions are —0.9 and 1.9.
52, 42+ 8x=0

dx(x +2)=0

dr=0o0rx+2=0

x=0 x=-2

The solution set is {—2, 0}
53. x®—5x=14

2% — 5 — 14

(x—THx+2)=0

x—T=0o0rx+2=0

x=T7 x=-2

The solution set is (-2, 7).
54 32+ 10=17Tx

322 - 17x + 10=10

(8x — 2)x — 5)=0

The solution set is I% 5}
55. Va®h®® = V(a*plp?
— ap10
56. V100p™ g = V(10p®|g|?
- 10p°|q|
Vidb%e?)?

= AR2:2

57. Ve4bict
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